
IMSB12  12 NOZZLE BOOM



33

12

35

34

15

20

2

1

21

4

16

6

103

9

7

11

13

11

26

25

28

27

14

23

18

19

10

8

23
12

23

29

28

24

30

3231 17 19225

9



ITEM NO. Part # DESCRIPTION QTY.
1 AZFPM006  8 Nozzle Deicing Boom Bracket 1

2 AMICS002 Poly Shroud For Deicing Boom 1

3 AZFPM020 1" x 17-3/4" Poly Pipe For Deicing Boom 2

4 AZFPM018 1" x 12-9/16" Poly Pipe For Deicing Boom 4

5 AZFPM019 1" x 7-3/4" Poly Pipe For Deicing Boom 2

6 AZFPM017 1" x 5-1/8" Poly Pipe For Deicing Boom 2

7 CBTEE100 1" Pipe Tee 8

8 CBEL10090  1" Poly Pipe Elbow 90 4

9 CFPN05M05M 1" Short Poly Nipple 2

10 CBRB100025  1" MPT x 1/4" FPT Reducer Bushing 10

11 CB100A 1" Male Adapter x 1" FNPT 2

12 CB100C 1" Female Coupling x 1" Hose Shank 4

13 CB100125CAP 1" & 1.25" Camlock Cap 1

14 CBHB075100 3/4" MNPT x 1" Hose Shank 2
15 CBCPLG075  3/4" Poly Pipe Coupling 2

16 CNST006 25608 REP. CAP CE Black & Washer 6
17 CNST008 Teejet Tip-Extended Flat Spray 4

18 CNST025  Teejet Tip, ST. STL solid stream 1.5GPM 6

19 CNST017 TeeJet 1/4" NPT x BSPT Female Connection Adapter 10

20 CNSE001 Boom Buster Mod. 370R Spray Nozzle 2

21 CXSC0002 Cable Tie 8" 2
22 AZFPM015  1" Pipe Clamp 6

23 CFCW003 Clamp For 1" Hose 6

24 CHBS030723C 3/8"  x 1-1/2" SS Carriage Bolt 4

25 CHBS030523  3-8" x 1" SS Hex Bolt 4
26 CHNSH0323 3/8" SS Hex Nut 4
27 CHNZN0325 3/8" SS Nylock Nut 4

28 CHWSF033 3/8" SS Flat Washer 8
29 CHWSL033 3/8" SS Lock Washer 4
30 CHBS012123  1/4" x 5" Long 18-8 Stainless Hex Head Bolt 6

31 CHNSN0123  1/4" Stainless Lock Nut 6
32 CHWSF013  1/4" SS Flat Washer 6
33 CLUESB020005 1" Hose (To Boomless Nozzle) 1
34 CLUESB020005 1" Hose (To Boomless Nozzle) 1
35 CLUESB020005 1" Hose (Center Boom Hose) 1


	Sheet1
	Drawing View2

	Sheet2
	Drawing View1

	Sheet3

